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1. BEHLT
(1)#EHT
FLB (ESEHT)  GEEKE. shapl k) |25 ) RLERERE L, 1. 260
SRR (I35 D) (EYEXEO0. 3hall |) | SRR G RE+ AR i ha 1. 260
FH i B ha 1. 260
HebrE (X% T) ha 1. 260
(2)#EAKT
AR T H=0. 3m i T 1. 000
AR T H=0. 4m i T 1. 000
AR T H=0. 5m i T 1. 000
AR T H=0. 6m i T 1. 000
AR T H=0. 8m i T 1. 000
(3) i T — K T
a7 Y — Mok & 6. 000
PR E L VU ¢ 200 m 7.500
PR E L VP ¢ 200 m 6. 000
(4)HEEMEUE L T
a7y — MEEMIUEL a2 U — b n3 41
X a2 Y — b n3 41
ROEM; - LB (PEEBETEMILS) #) a7 ) —k m3 41
v 7 U — MEEWIEL Hffar 7 J—h m3 1.4
X Hii=r 70—k n3 1.4
OE - L (EEBEEMLSE) Hffar 7 J—h m3 1.4
2. KBTI (BKE)
(1)EKREL fE¥+T
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AR - AR - B Hikg B B i &
R m3 229. 000
LR IE m 191. 000
AT T A WREREDO+Q n3 7.200
R BREO+Q@ HAt) m3 175. 000
R BR+® fHt) m3 33.000
WRERT —7 m 269. 400
(2)EKRKL BT
HEHEL e =1 (VU-RR) ¢ 300 m 187. 200
HEHEL e =1 (VU-RR) ¢ 200 m 41. 400
AL & =L (VU-RR) ¢ 75 m 40. 800
BEERAL A RN (SRED) ¢ 300%90° G 1. 000
BEERAL A RN (SRED) ¢ 200%90° G 4. 000
BEEREL A RN (SRED) ¢ 75%90° 1 1.000
BEERAL A 7 RUERE  (SRED) ¢ 300%22° 1/2 1 1.000
BEERAL A RN (SRED) ¢ 300%11° 1/4 1 3. 000
BEEKERL A H RITTR (SREH) ¢ 300%200 G 1. 000
BRI A H RITT (SRAH) ¢ 300%75 G 4. 000
BEEKERL A H RITTR (SREH) ¢ 200%75 G 1. 000
BEERAL A RITFAE (SRETF) & T5%75 1 1.000
PRk A A R Ly — (SRE) ¢ 300 i 1..000
BRI X WAL Z VR (SREF) ¢ 200 1 2. 000
BRI X WAL Z L URIE (SREF) o175 1 2. 000
7T v VAT ¢ 200 A 2. 000
7T v VAT o175 A 2. 000
(3) {815 L
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TFE - R - A0 Biks AL Kok i &
RGN ¢ 200 fEFT 1. 000
(AR=IETE - ¢ 200 & HT 1. 000
RGN 675 fEFT 1. 000
(AR=IETE - o175 & HT 1. 000
(4) kML
B Bhfa KRR E T ¢ 50 & 2. 000
B Bhfa KRR E T o175 & 4. 000
(5) a7kt T BELET
R m3 8.200
LR IE m 6. 400
AT T A WREREDO+Q n3 1.000
R MREO+@ (ML) m3 2. 900
R MRE@+@ (it 1) m3 4. 400
WRERT —7 m 12. 800
(6)fa/Kre T BT
WMAKBREAET X 1. 000
3. Pk L
(1) EELT
RIE D m3 246
LR IE m 160
EIELS I m 416. 000
EIRETE Gl m 43
HLR m3 141
B+ m3 45. 000
A t 376. 000
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AR - AER - M Hikg LA B 5 &
(2) Pk T
7Y 2— A KF-300 m 134. 900
7Y 2—h KF-500 m 146. 600
FI7 U 2— A B500%H800 m 2.000
7Y a—LHE 500 ZS 3.000
BT K-3% & Pt 3.000
BT K-47 & Pt 1.000
BTG L 5% & P 1.000
BTG L 6% & Pt 1.000
H AR B500 X H1000 m 14. 300
4. EET
(1) Rt T
R (Gte) it - B m3 39
(2) Bt LT T
ETELS 7 AR m 4
(3) WHIELE T
ORI LS T m 123. 000
(4) AL
e S it m3 39. 000
5. W HIAL
(1) - ®@IBL EIRT
kL X 1.000
"IAT v 1. 000
(2)#% - @B eV N EX g N
kL X 1.000
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R 6 [[#F FEMR FHli 1 —1 15 HOFMEEAR)  THEEEREER
AR - AER - M Hikg LA B 5 &
"IAT v 1. 000
6. ZOf
(1) fg s
LR (BT
E
BB R - HANT - dik = 1
—fE R LAl
1. el sy
(1) Nl 7 v b R
A2 B LR EER v 1. 000
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